| ck | Unit | Item Description | Specifications | Quan tity | Estimated Unit Cost | Estimated Total Cost |
|----|-------|-------------------------------|--|--------------|------------------------|----------------------|
| 1 | pc(s) | Volleyball bag | MIK-VL6B Volleyball bag for 6pcs. inflated balls | 4 | ₱5,000.00 | ₱20,000.00 |
| 2 | pc(s) | Volleyball Ball Cart | MIK-BCSPH Size: 64x64x100cm Ball Cart Collapsible with Caster Wheels Holds 25-30 balls | 2 | ₱15,000.00 | ₱30,000.00 |
| 3 | pc(s) | Volleyball Net | 1 m wide (± 3 cm); 9.50 to 10 m long (with 25 to 50 cm on each side of the sidebands) made of 10 cm square black mesh | 2 | ₱5,000.00 | ₱10,000.00 |
| 4 | pc(s) | Volleyball Ball | MV 300W Official Size 5 8 Panels Circumference: 65-67 cm Weight: 260-280 g. Inside pressure: 0.30 to 0.325 kg/cm2 (4.26 to 4.61 psi) (294.3 to 318.82 mbar or hPa). Material: Super Composite Cover Construction: Laminated SingleDimple Surface (Branded) | 20 | ₱6,000.00 | ₱120,000.00 |
| 5 | pc(s) | Rolling Tennis Ball Basket | Base: 49.35% Steel, Base: 25.97% Aluminium, Base: 20.78% Polypropylene, Base: 3.9% Polyamide 6 Main fabric: 97.0% Polyester, Main fabric: 3.0% Polypropylene | 1 | ₱5,000.00 | ₱5,000.00 |
| 6 | pc(s) | Lawn Tennis Racket String | Tennis Racket String 40' Set Multifilament Racquet String, Length: 12 m / 40 ft Gauge: 1.25 mm / 17 g, 1.30 mm / 16 g | 20 | ₱400.00 | ₱8,000.00 |
| 7 | pc(s) | Dampeners | RTP Tennis Racket Vibration Dampener - ShockSorb Original or Ultrasoft V3 The Only Dampener Made for Pain Relief - Handcrafted with Patented Material Sorbothane | 10 | ₱200.00 | ₱2,000.00 |
| | | | | | | |

| 8 | pc(s) | Tennis Over Grip | Black, Easy-to-fit overgrip, excellent perspiration absorption, polyurethane material makes it easy to hold and gives it long-lasting grip and absorption, Main fabric : 100.0% Polyurethane (PU) | 20 | ₱150.00 | ₱3,000.00 |
|----|--------|-----------------------------------|---|----|-----------|------------|
| 9 | pc(s) | Tennis Under Grip | Black, VT Advantec Vibration Dampening Tennis Racket Grip Tape – Advanced Polymer Technology – Dampens Frame Vibration – Simple Adhesive-Free Installation – Optimize Response and Control | 20 | ₱100.00 | ₱2,000.00 |
| 10 | can(s) | Tennis Ball (Can of 4 balls) | Tour Core Engineered, Ultra Vis dye, hydro guard technology, ITF Approved, Official diameter as 6.54–6.86 cm (2.57–2.70 inches) masses in the range 56.0–59.4 g (1.98–2.10 ounces) | 40 | ₱700.00 | ₱28,000.00 |
| 11 | pc(s) | Extension cord (6 Gang, 5 meters) | | 2 | ₱750.00 | ₱1,500.00 |
| 12 | pc(s) | Chess clock | 4 LEAP CINESS CIOCK DIGITAL CINESS Timer Professional for Board Games Timer with Alarm Function Product Dimensions: 5.51 x 1.93 x 3.66 inches Item Weight: 8.8 ounces ASIN: B07RW6DZBH Item model number: Chess2 Batteries: 1 AA batteries required. (included) | 4 | ₱1,300.00 | ₱5,200.00 |
| 13 | pc(s) | Chess Mat | Eureka Chess deluxe roll chess 20"x20" roll-up vinyl playing mat, diecut with round corners Solid plastic chess pieces with suede bases: 3 1/2" king Sleek, two-toned nylon canvas bag with separate compartments for playing mat and chess pieces | 4 | ₱700.00 | ₱2,800.00 |
| 14 | pc(s) | Billiards Cue Bridge (plastic) | Material: Plastic Size: 10 * 7 * 0.5cm / 3.9 * 2.7 * 0.2in Weight: 20g / 0.7oz Package weight: 23g / 0.8oz | 1 | ₱200.00 | ₱200.00 |
| | | | Material: Wood Size: 1 inches Fits to 2 1/4 billiard | | | |
| 15 | pc(s) | Billiards Triangle Rack | balls Color: Natural Glossy Wood BILLIARD TRIANGLE WOOD RACK 2 1/4 | 1 | ₱400.00 | ₱400.00 |

٠,

| 16 | box(e s) | Master Billiard Chalk | One Dozen (Blue) for Billiards / Pool / Snooker. Transfers smoothly and evenly to leather cue tips | 4 | ₱120.00 | ₱480.00 |
|----|-------------|-----------------------------------|---|---|-----------|------------|
| 17 | box(e s) | Tiger Everest Cue Tip | HARDNESS: MEDIUM (3+) TIGER DUROMETER (TYPE A): 95 MUELLER DUROMETER (TYPE B/C): 73-76 DIAMETER: 14MM | 2 | ₱600.00 | ₱1,200.00 |
| 18 | box(e s) | Diamond Blue Laminated Cue Tip | DENSITY: SOFT DENSITY SCORE: 13MM.13 MILLIMETER MADE IN THE USA LEATHER CUE TIPS HAND-SELECTED WATER BUFFALO HIDE, INFUSED WITH VELVET-GRADE SILICA FOR MAXIMUM ADHERENCE | 2 | ₱180.00 | ₱360.00 |
| 19 | pc(s) | Mit Cue | Southwest Inlay Designs 3/8x11 Piloted Joint 58 inches in height 18.5 oz in weight Purple Heart, Bird's Eye, Gabon Ebony Forearm Canadian Hard Maple Shaft 12.8mm In Diameter Pro Taper Shaft Custom MIT Joint Protector included Extension Bumper included Hard Case included Tiger Everest tip installed Phenolic Ferrule installed | 4 | ₱9,000.00 | ₱36,000.00 |
| 20 | pc(s) | Beach Volleyball Ball | OFFICIAL SIZE 5 TRI COLOR COMPOSITE CURVED 10 PANEL DESIGN FOR EASY RECOGNITION OFFICIAL SIZE AND WEIGHT FIVB "EXCLUSIVE" OFFICIAL GAME BALL FIVB APPROVED SIZE 66-68CM WEIGHT 260-280G MATERIAL SUPER COMPOSITE COVER WITH RECYCLE-NYLON CONSTRUCTION STITCHED FEATURE ORIGINAL TWINSTLOCK | 3 | ₱9,000.00 | ₱27,000.00 |
| 21 | pc(s) | Basketball Coaching Board | 2pcs Reusable coaching board with marker Court layout on both sides - Front – full court - Back – half court | 2 | ₱1,449.00 | ₱2,898.00 |

| 22 | pc(s) | Ball Bag | 2 pcs Sports Basket Ball Bag (3-4 balls) | 1 | ₱2,500.00 | ₱2,500.00 |
|----|----------------|-------------------------------------|---|----|------------|------------|
| 23 | pc(s) | Basketball Ball | FIBA Approved Official Ball 2023 12 Panel / 2-Tone Design Cover Material: Premium Leather Original Leather Texture Surface High Foamed Structure Foam Backing Layer Indoor Use B7G4500 Size 6 | 4 | ₱3,500.00 | ₱14,000.00 |
| 24 | pc(s) | Basketball Ball | FIBA Approved Official Ball 2023 12 Panel / 2-Tone Design Cover Material: Premium Leather Original Leather Texture Surface High Foamed Structure Foam Backing Layer Indoor Use B7G4500 Size 7 | 4 | ₱4,000.00 | ₱16,000.00 |
| 25 | pc(s)/ box | Baseball Practice Balls | ROLB1XBUCK36 Leather | 1 | ₱6,380.00 | ₱6,380.00 |
| 26 | pc(s)/ box | Mini Wiffle-Balls | PLGB-W12 5 inch Plastic Balls | 4 | ₱660.00 | ₱2,640.00 |
| 27 | pc(s)/ box | Training Balls | Sports Rubber Training Baseball Balls | 2 | ₱2,200.00 | ₱4,400.00 |
| 28 | box(e s) | FSR1NCAA Official Baseball Balls | FSR1NCAA Official Baseball Balls | 2 | ₱4,400.00 | ₱8,800.00 |
| 29 | pc(s) | Hot Metal BBCOR Baseball Bat | BB21HM 33inches, 30oz | 2 | ₱12,500.00 | ₱25,000.00 |
| 30 | pc(s) /tube | Shuttlecock | Goose Feather Badminton Shuttlecocks with High Durability 3 in 1 Badminton Ball | 60 | ₱1,500.00 | ₱90,000.00 |
| 31 | roll(s) | BADMINTON TOWEL GRIP x 2 BLACK | Sweat absorption, 100.0% Polyester | 12 | ₱250.00 | ₱3,000.00 |
| 32 | pc(s) | Badminton Racket String | BG66 | 16 | ₱700.00 | ₱11,200.00 |
| 33 | pc(s) | Mouth Guard | Color: TransparentSize: Different SizesComes with hard case | 50 | ₱300.00 | ₱15,000.00 |

*

.

| 34 | pc(s) | Free Standing Punching Bag | SOFT AND COMFORTABLE WHEN HIT THE SHOCK ABSORPTION STRUCTURE IS REASONABLE, T E CUSHIONING AREA IS LARGE, AND THE IMPACT FORCE IS DECOMPOSED 360° 80L LARGE CAPACITY CARVED ENGINEERING C-BARREL, EQUIPPED WITH 19 80MM SUCTION CUPS, IS MORE STABLE. SANDBAG WEIGHT: 11KG, SIZE 27 * 112CM BASE WEIGHT: 4KG, SIZE 34 * 50CM | 1 | ₱2,074.00 | ₱2,074.00 |
|----|---------|-----------------------------------|--|---|-----------|-----------|
| 35 | pc(s) | Groin guard | The Karatedo Female Protector is composed of lightweight padding for protection to the groin area. It is kept in place by a dual-velcro strap, which ensures comfort and ease in wearing. | 4 | ₱1,037.00 | ₱4,148.00 |
| 36 | pc(s) | Groin guard | The Karatedo Male Groin Guard has padding for the lower abdomen and a special contoured groin cup to provide complete protection to the groin area. It is kept in place by a dual-velcro strap, which ensures comfort and ease in wearing. | 4 | ₱1,037.00 | ₱4,148.00 |
| 37 | pc(s) | Hand Target PU Box | Leather, fight, explosion-proof. Smooth surface and beautiful design. Curved design, hand- stitched for a more comfortable fit. Material: PU + high strength liner. Package included 1 x Hand Target. Color: white. Size: 255x205x110mm/10.03*8.07*4.33". Net weight: 150g, Scope of application: training in boxing /taekwondo/fighting/Sanda." | 8 | ₱500.00 | ₱4,000.00 |
| 38 | pc(s) | Arm Guard (Karatedo) | High-grade front fabric with Kix logo patch.Tight mesh back material for a cooler feel.Top fixed garter and bottom adjustable garter strap with velcro for fastening. | 8 | ₱732.00 | ₱5,856.00 |
| 39 | pair(s) | Shin Guard Blue/Red (Karatedo) | High-grade front fabric with Kix logo patch. Tight mesh back material for a cooler feel. Middle fixed garter, and top and bottom adjustable garter straps with velcro for fastening. With instep | 8 | ₱854.00 | ₱6,832.00 |
| | | | Compulsory in all WKF tournaments | | | |

| 41 | pc(s) | Head Guard Red (Karatedo) Head Guard Blue (Karatedo) | elastic stitches for added strength and quality Very light and easy to clean. Color: Red, blue Size :XS,S,M,L,XL Karatedo. recognized headgear Color: Blue SIZE: S, M, L, XL Karatedo. recognized headgear | 4 | ₱2,440.00 ₱2,440.00 | ₱9,760.00 ₱9,760.00 |
|----|-------|---|--|---|------------------------|------------------------|
| 43 | pc(s) | Chest Guard Karatedo | Color: Red SIZE: S, M, L, XL Thick-type karate chest protector Thickness of 4-6cm, lace type, suitable for professional training in the use. Thick high-elastic foam, rigid foam system for high compression. Size: Large, Medium and Small Karatedo | 4 | ₱2,196.00 | ₱8,784.00 |
| 44 | pc(s) | Hand Target PU Box | Leather, fight, explosion-proof. Smooth surface and beautiful design. Curved design, hand- stitched for a more comfortable fit. Material: PU + high strength liner. Package included 1 x Hand Target. Color: white. Size: 255x205x110mm/10.03*8.07*4.33". Net weight: 150g, Scope of application: training in boxing /taekwondo/fighting/Sanda." | 6 | ₱500.00 | ₱3,000.00 |
| 45 | pc(s) | Arm Guard | Taekwondo High-grade front fabric Tight mesh back material for a cooler feel. Middle fixed garter, and top and bottom adjustable garter straps with velcro for fastening. SIZE: S, M, L, XL | 8 | ₱732.00 | ₱5,856.00 |

٠,

| 46 | pair(s) | Shin Guard | Taekwondo High-grade front fabric Tight mesh back material for a cooler feel. Middle fixed garter, and top and bottom adjustable garter straps with velcro for fastening. SIZE: S, M, L, XL | 8 | ₱854.00 | ₱6,832.00 |
|----|---------|--------------------|---|---|-----------|------------|
| 47 | pair(s) | Gloves (Taekwondo) | High-grade PU Leather EVA protection pads Sizes: Small, Medium, Large, XL | 8 | ₱1,451.80 | ₱11,614.40 |
| 48 | pc(s) | Kicking Pad | Taekwondo DOUBLE PAD - 15.5 in x 8.5 in Material: Imported synthetic leatherette High grade rubber Branded impact absorption foam Branded PE foam padding | 8 | ₱1,342.00 | ₱10,736.00 |
| 49 | pc(s) | XL Body Armor | Taekwondo Size: Sizes: XS, 1, 2, 3, 4 Colors: Blue, Red (Reversible) Body Armor (Ellipse), High-grade, leatherette material with a Dragon design. Contoured body, which allows better mobility without limiting protection. | 4 | ₱2,409.50 | ₱9,638.00 |
| 50 | pc(s) | Large Body Armor | Taekwondo Size: Sizes: XS, 1, 2, 3, 4 Colors: Blue, Red (Reversible) Body Armor (Ellipse), High-grade, leatherette material with a Dragon design. Contoured body, which allows better mobility without limiting protection. | 4 | ₱2,409.50 | ₱9,638.00 |
| 51 | pc(s) | Hand Target PU Box | Leather, fight, explosion-proof. Smooth surface and beautiful design. Curved design, handstitched for a more comfortable fit. Material: PU + high strength liner. Package included 1 x Hand Target. Color: white. Size: 255x205x110mm/10.03*8.07*4. 33". Net weight: 150g, Scope of application: training in boxing /taekwondo/fighting/Sanda." | 6 | ₱500.00 | ₱3,000.00 |
| | | | Stix Arnis Arm Guard, Colors: Blue, | | | |

, ' ,

| 52 | pc(s) | Arm Guard | Red, Sizes: S/#1, M/#2, L/#3, Materials: Odorless mesh inner lining Branded garter Strong holdhook-and-loop fastener Polyethylene foam padding, Female Groin Guard for Arnis, Color: Black, Sizes: #1(S), #2(M), #3(L), Materials: Contoured groin cup Synthetic leather PE foam padding Stronghold hook-and-loop fastener | 4 | ₱915.00 | ₱3,660.00 |
|----|---------|----------------|--|----|-----------|------------|
| 53 | pc(s) | Groin Guard | Male Groin Guard for Arnis, Color: Black, Sizes: #1(S), #2(M), #3(L), Materials: Contoured groin cup Synthetic leather PE foam padding Strong-hold hook-and-loop fastener | 12 | ₱793.00 | ₱9,516.00 |
| 54 | pair(s) | Hand Gloves | Stix Hand Gloves for Arnis, Color: Black Sizes: S/#1, M/#2, L/#3, Materials: Odorless mesh inner lining Branded garter Strong holdhook-and-loop fastener | 6 | ₱1,220.00 | ₱7,320.00 |
| 55 | pc(s) | Arm Guard | Stix Arnis Arm Guard, Colors: Blue, Red, Sizes: S/#1, M/#2, L/#3, Materials: Odorless mesh inner lining Branded garter Strong holdhook-and-loop fastener Polyethylene foam padding | 4 | ₱915.00 | ₱3,660.00 |
| 56 | pc(s) | Head Gear | Arnis Colors: RED/BLUE Material: - Synthetic imported leather, - Imported lining materials, - Paint-coated solid metal grills (4.2 cm & 5.2 cm) Strong-hold hook-and-loop fastener, - PE foam padding | 4 | ₱5,000.00 | ₱20,000.00 |
| 57 | pair(s) | Leg Shin Guard | For Arnis Colors: RED/BLUE, Materials: Mesh inner lining, Branded garter, Stronghold hook-and-loop fastener, PE foam padding 6 pairs (2 pair small 2 pair medium 3 large | 6 | ₱950.00 | ₱5,700.00 |
| 58 | pc(s) | Padded Stick | Color: Red / Blue Length: 30 inches Diameter: 1.25 inches Materials: PE foam-covered rattan stick, Nylon cover with rubber backing, Interlaced STIX Patch | 30 | ₱400.00 | ₱12,000.00 |
| | | | Arnie I ivo Stick Fighting Padded | | | |

· · ·

Allis Live Ottok i ignung i added Body Armor - Black Blue, Arnis reversible Body Armor, Red/Blue, Available Sizes; 1,2, 3 59 pc(s) Armor 4 ₱6,344.00 ₱25,376.00 Color: Red, Blue, High-grade plastic visor, Synthetic leather, Branded foam padding Heavy duty Flashlight (Battery operated and 60 pc(s) 5 ₱3,500.00 ₱17,500.00 rechargeable for rescue and emergency) Foam Plyo Box 15cm High (landing area: 90cm x 75cm) Foam Plyo Box 30cm High (landing area: 90cm x 75cm Foam Plyometric Box 61 set(s) Foam Plyo Box 45cm High (landing 2 ₱30,000.00 ₱60,000.00 Jump Set (4 Boxes) area: 90cm x 75cm Foam Plyo Box 60cm High (landing area: 90cm x 75cm) SR-966 30W Megaphone with Siren, 62 pc(s) Megaphone Whistle & Voice Recorder Lithium 1 ₱5,000.00 ₱5,000.00 Rechargeable Battery Size:38*20*22cm PortableTable Tennis Color: Black 63 pc(s) 4 ₱750.00 ₱3,000.00 Scoreboard Weight:0.5kg Size:38*20*22cm Portable Badminton Color:Black 64 pc(s) 4 ₱1,200.00 ₱4,800.00 Scoreboard Weight:0.5kg Size:38*20*22cm Portable Volleyball Color:Black 65 pc(s) 2 ₱1,200.00 ₱2,400.00 Scoreboard Weight:0.5kg Weighted Medicine Ball · 66 pc(s) 3 kgs 5 ₱2,000.00 ₱10,000.00 Basketball Weighted Medicine Ball 67 pc(s) 3 kgs 5 ₱2,000.00 ₱10,000.00 Volleyball

| 68 | pc(s) | Adjustable Height Hurdle Agility Training Hurdle Set of 10. Made from heavy-duty PVC | Adjustable Height Hurdle Agility Training Hurdle Set of 10 Made from heavy-duty PVC three different heights (15/25/30/50cm). | 10 | ₱5,000.00 | ₱50,000.00 |
|----|-------|---|--|----|-----------|------------|
| 69 | pc(s) | Essential 3.20 m Agility Ladder - Orange | Frame: 100.0% Polypropylene (PP) Strap: 100.0% Polypropylene (PP) Buckles: 100.0% Brass, 6 blocks | 20 | ₱500.00 | ₱10,000.00 |
| 70 | pc(s) | Core Ressistance Bands | RESISTANCE BANDS ARE FOR BEGINNERS, ELDERLY USERS OR USERS WHO MAY HAVE SUFFERED AN INJURY AND NEED VERY LIGHT RESISTANCE. THESE BANDS OFFER ABOUT 2.5 TO 3.5 KILOGRAMS OF RESISTANCE. MEDIUM RESISTANCE (GRAY): AT 3.6 TO 5.5 KILOGRAMS OR MORE OF RESISTANCE, MEDIUM RESISTANCE BANDS ARE A GOOD ALL-AROUND CHOICE FOR A STRENGTH-TRAINING WORKOUT. HEAVY RESISTANCE (BLACK): THESE BANDS WORK WELL FOR ACTIVE USERS WHO WORKOUT REGULARLY. HEAVY RESISTANCE BANDS SUPPLY 6 KILOGRAMS OR MORE OF RESISTANCE. | 30 | ₱1,300.00 | ₱39,000.00 |
| 71 | pc(s) | Core Ressistance Training Kit | Length 27.5 x Width 3cm Thickness: Red: 1.0mm, Gray: 1.15mm, Black: 1.3mm LIGHT RESISTANCE (RED): LIGHT RESISTANCE BANDS ARE FOR BEGINNERS, ELDERLY USERS OR USERS WHO MAY HAVE SUFFERED AN INJURY AND NEED VERY LIGHT RESISTANCE. THESE BANDS OFFER ABOUT 2.5 TO 3.5 KILOGRAMS OF RESISTANCE. MEDIUM RESISTANCE (GRAY): AT 3.6 TO 5.5 KILOGRAMS OR MORE OF RESISTANCE, MEDIUM RESISTANCE BANDS ARE A GOOD ALL-AROUND CHOICE FOR A STRENGTH-TRAINING WORKOUT. HEAVY RESISTANCE (BLACK): THESE BANDS WORK WELL FOR ACTIVE USERS WHO WORKOUT REGULARLY. HEAVY RESISTANCE BANDS SUPPLY 6 KILOGRAMS OR MORE OF RESISTANCE. | 20 | ₱1,700.00 | ₱34,000.00 |